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01 At 2eld] 20,000 0 20,000
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= 1,000
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= 15,000




A AL 22| 1t
S THol X IH: ol

el THoH % T AFE O CRE-E)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2

201 LBtEAd] iy 15,000

01 ArR2t2lbl 30,000 0 30,000
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& 150,000
iy 150,000

401 AIEHIZ =204 300,000 490,000 190,000
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[= 2,000
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= 18,500
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10,000,000 10,000
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O= 2| 3,000
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— ot =YHAIEZSEY &bl 15,000, 000 15,000
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01 1849l 400,000 0 400,000
OXoctdEHIS 400,000,000 400,000
401 AU 204 240,000 446,000 206,000
01 Al&HI 240,000 446,000 A 206,000
Ot X 2eldl 100,000,000 100,000
OaMel(Z3l
140,000,000 140,000
S EotE R 2l 30,000 30,000 0
401 Al&HIZ 204 30,000 30,000 0
01 Al&HI 30,000 30,000 0
O=&gota 30,000,000 30,000
ol &S KIS AL 500,000 0 500,000
s 300,000
= 200,000
401 AIZHIHF 500,000 0 500,000
s 300,000
L= 200,000
01 A&l 500,000 0 500,000
O% 8l &S XN & AP (X 500,000,000 500,000
Py 300,000
< 200,000
Setd MEZFX 420,000 200,000 220,000
401 A &HIZ =204 420,000 200,000 220,000
01 Al&HI 420,000 200,000 220,000
O= & 2MEN2 420,000,000 420,000
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= 567,000
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401 AIEHIZ 2O 1,134,000 570,590 563,410
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2 567,000

01 A&l 1,114,000 550,590 563,410
O2otEZHI(2. tkm) 1,114,000,000 1,114,000
= 557,000
i 557,000

03 A& =0 20,000 20,000 0
O2otEEHIAE 20,000,000 20,000
= 10,000
i 10,000

KISHE OH==AtS 1,000,000 0 1,000,000
& 1,000,000

401 AU S04 1,000,000 0 1,000,000
L= 1,000,000

01 A&l 990,000 0 990,000
OXaotE M==AtS 990,000,000 990,000
= 990,000

03 A& =0l 10,000 0 10,000
OXgotd M=AtS 10,000,000 10,000
= 10,000

of&E M HulAY 251,000 0 251,000
& 125,500
= 125,500

401 A& HIZLROY| 251,000 0 251,000
= 125,500
= 125,500

01 A&l 251,000 0 251,000
Oot& M HHIAY 251,000,000 251,000
< 125,500
i 125,500

=2 HUIAS 50,000 0 50,000
& 25,000
i 25,000




SN AL TRl
HE: O GHETA

ool NS o E E4 (S5l & )
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
401 AlEHIL 2O 50,000 0 50,000
= 25,000
2 25,000
01 Al&H] 50,000 0 50,000
Oth+2 ZHIA 50,000,000 50,000
< 25,000
2 25,000
Zoime XY 3,345,120 3,704,684 359,564
BT 114,320 130,000 ~15,680
BHHHAZN 22 S 50,000 70,000 20,000
207 SRIHEH] 50,000 70,000 20,000
01 efEo 50,000 70,000 20,000
OSMUAMZX &HS 50,000,000 50,000
AR 22l 64,320 60,000 4,320
201 Yeregy) 10,000 10,000 0
01 AR el 10,000 10,000 0
Oger+gH| 10,000
—2TRUY E+4E 0,000,000 10,000
202 o1t 4,320 0 4,320
01 =UHoTbl 4,320 0 4,320
OZ R LS 2AR0HH]
20,000 « 92 * 28 * 128 4,320
401 AlEHIL 2 H] 50,000 50,000 0
01 AlZH] 50,000 50,000 0
OISFNULBEE(ASS) 8 24
50,000,000 50,000
ARS Ko 2,748,900 3,109,684 360,784
ARD2AE X2 230,000 320,000 £90,000
401 AlEHIL RO 230,000 320,000 £90,000
01 AIZH] 200,000 300,000 100,000
O2R2AH RN 200,000,000 200,000
03 Al&SThH| 30,000 20,000 0,000
O2R2AA 2K 30,000,000 30,000
TEET ==Y 300,000 200,000 100,000
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01 Al&H] 300,000 200,000 100,000
OHIgAETZ ZX2A(0I2EX)
300,000,000 300,000
HIYEEZ2Z A 1,677,000 2,015,000 338,000
401 AlSHI LY 1,677,000 2,015,000 338,000
01 Al&H] 1,677,000 2,015,000 338,000
OFYe| aUet &2 T AT AH400m)
100,000,000 100,000
Odta1e| meA X ZAH(10m) 70,000,000 70,000
O/t X2 OLA2S M 2|2 AHT700m)
32,000,000 32,000
OO0lgte] H& S28H& U T2 AF(150m)
45,000,000 45,000
Oftsel ZXI0tS U2 HAE Z AH40m)
50,000,000 50,000
Of =22 &2 Orser2 A = AH300m)
100,000,000 100,000
O&=22 5% =244 2 AH300m)
50,000,000 50,000
OO0l Ale| DFSet2 & HI 2 AH300m)
61,000,000 61,000
O=022] X8 AW AXZAH(12m)
50,000,000 50,000
OYUR| OS2 OFAR M R2I|Z AHB00
m) 30,000,000 30,000

140,000,000 140,000
OUA12] R2UZS OIAZ2UMRI| 2 A5
om) 40,000,000 40,000
OAt3(22] OtLDIS ANy & C2HER
AH(200m) 74,000,000 74,000
OAr&12] JF2EH| 2 AH(6m) 30,000,000 30,000
Ot 12| =E0IS OIA2LUMN I ZAH20
Om) 30,000,000 30,000
O&del Amz SEIZAH10m) 40,000,000 40,000
Os8222 REHT2A S2ZEZAH150m)
80,000,000 80,000
O#& el MHYsXE TR I XD AHSE0M)
50,000,000 50,000
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S AT R Dt
M Z0IBO XN

CHel: ARD XY (982
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
OUZxE22| W3IY OFARAMR2I|ZAF(1,00
Om) 40,000,000 40,000
Oatse| S0t? OFARSM I ZAH(1,500
m) 45,000,000 45,000
O8212] HUS OtARLAMR2I|ZAH(1,50
Om) 45,000,000 45,000
O=222| Ol3HH =2 2L ANSASI2A
80,000,000 80,000
O#32| HIEX S22 ZEZAH108m)
30,000,000 30,000
OdlaHe| HH2XUR S2EFH D AH(135m
) 30,000,000 30,000
OQlA2Z] ASZ OtA RS M 2T 2 AH500m
) 35,000,000 35,000
O4IAI32| QHAIZ S22 &I AH(300m)
30,000,000 30,000
OX=Z2| Jt2D DNUFSTZ DA
40,000,000 40,000
OZ 22l LES= WA X ZAH10m)
100,000,000 100,000
BHEP| =E 2HA M X2 AH5m) 50,000,000 50,000
OO0l=12| W4 XIZAH8m) 80,000,000 80,000
=2 FHIZ2At 160,000 175,000 A 15,000
401 Al&HIL=20HY] 160,000 175,000 A 15,000
01 Al&H] 160,000 175,000 A 15,000
OA32(ReIBZ ) =2 & XIZAH100
m) 50,000,000 50,000
O=242| det20tel tH4=2 & HI 2 AH(250m)
30,000,000 30,000
O4la2e] Jteie 8 - 424 X 2 AH200m
) 30,000,000 30,000
ORMEe| NUSK =22 AH(160m)
50,000,000 50,000
HI& & HI 2 A 324,000 340,000 A 16,000
401 Al&HIL2CHY] 324,000 340,000 216,000
01 Al&H] 324,000 340,000 216,000
O0t&2el MEL A& A -HlZAH600m)
38,000,000 38,000
OfA=12 &2 AIEEHI2AH200m)
30,000,000 30,000
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A AL 22| 1t

M Z0IBO XN

Sl AFZ XSEpY (982
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
Oatd4e| NI HHIZAH73m) 60,000,000 60,000
Og=x22| 2ota HEHHISAH120m)
50,000,000 50,000
OdteEtel 22lg NS XHIZ2AH250m)
46,000,000 46,000
OZH22l MI&E A HIZAH350m) 60,000,000 60,000
Z0i22] 22 MAEEH|I2AH200m)
40,000,000 40,000
JF2EI(221, MotE21) 2 15,000 15,000 0
206 XH2H| 5,000 5,000 0
01 a4 5,000 5,000 0
OJZ2EI(ZI], MOtE21) 2 5,000,000 5,000
401 AlSHIL20HY] 10,000 10,000 0
01 Al&H] 10,000 10,000 0
OJt2dal =l 2 ARax 10,000,000 10,000
HE™ X2 42,900 44,684 N1,784
201 B2 AH| 13,900 15,684 A1,784
01 AtR22/H] 12,700 12,900 A 200
O1l=H] 5,000
— & o= 5,000,000 5,000
O= | 5,000
— & S| 5,000,000 5,000
O=2da4 700
—JlEZ NIHLA &5 o5 &
=] 70,000 * 10 * 13 700
OLBta2H| 2,000
—HaJ|IH2A HA Kol 1,000,000 1,000
—NEAHAHY 2H AA RO 1,000,000 1,000
02 2229 1,200 2,784 A1,584
O2222 2 HA 1,200
—HASAIRA MRS 1,200,000 1,200
203 HUR=ZH 24,000 24,000 0
03 AIM=RAR=ZY| 24,000 24,000 0
OE2EHE KAMUAY 20,000,000 20,000
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S AT R Dt
M Z0IBO XN

Sl AR KSHY (£ &)
_ _ MNuE o
SA-EHB . CA(ENH) - HEAY - BE2 Ofl & o il i~ o Rz
SEFEEIEEES 4,000,000 4,000
401 ASHILLHY 5,000 5,000 0
03 Al&=CH| 5,000 5,000 0
O/AE 29 5,000,000 5,000
YHAEHTA X (LHASHH) (LHAZHK A 481,900 465,000 16,900
NS S5 H)

ASAY SUHSNA(LHLSE) 100,000 60,000 40,000
501 B3 100,000 60,000 40,000
01 SIS 100,000 60,000 40,000

OASAY SXSBN 100,000,000 100,000

HELALTL NS (LHASHE) 171,000 192,500 ~21,500
401 A&HLLHY 171,000 190,000 19,000
01 AlZH] 169,000 190,000 ~21,000

ODIAZl DISEIR 122 MUl Al

35,000,000 35,000
OANEZl 828 o525 HEFHIZA

20,000,000 20,000
O3l=22| D128 25 MEFUIZA

28,000,000 28,000
OBW42| O Y42 SXIBA 44,000,000 44,000
Odt& 12l 2S0HS LB A

15,000,000 15,000
OFB52 IEHL HMEZUIZA

27,000,000 27,000

03 Al&=rhl 2,000 0 2,000

OBBLALEL XA 2,000,000 2,000

HBYLAFL NN (LHASHEH) 150,000 161,500 A11,500
308 XXISASOIH 7,000 7,000 0
06 RSIIZUUH2ES 7,000 7,000 0

O4FESED S22l N
7,000,000 7,000
401 AN&HLLHY 107,000 97,000 10,000
01 AZHb] 107,000 92,000 15,000
O& &2l HZZ4H LXBA 70,000,000 70,000
O=zel AN HBTA 37,000,000 37,000
402 QUAROIH 36,000 56,000 20,000
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A AL 22| 1t

Hm: ZE0IEY XN
Ol SEATENY KB (LHASHEN)(EHAFHRAX AL S H) (9l &8
_ _ SIEN
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
I EEES 36,000 56,000 20,000
OUREl BEAE & 01282 24TA
36,000,000 36,000
R 60,900 51,000 9,900
801 ofltil ] 60,900 51,000 9,900
L 60,900 51,000 9,900
O I 60,900, 000 60,900
BHS AL (AL 22 D) 76,176 72,226 3,950
oIz 2ot (& Tk 2t2l D) 4,200 4,200 0
IR 4,200 4,200 0
203 ARFXY| 4,200 4,200 0
VRV EEEEEST 4,200 4,200 0
ORM2gYL=TY| 350,000 * 122 4,200
D=2 (A AT 22l D) 71,976 68,026 3,950
=l 71,976 68,026 3,950
201 st2 | 43,820 38,850 4,970
01 AFRarelt] 36,520 32,050 4,470
Oger+gH| 25,020
—SAEX T (M,B4)
18,000 * 504Xt * 53l 4,500
—JIBAREE S 7Y 4,000,000 4,000
—SQUEX P 1,500,000 1,500
— = AL 3,600
= ADIEY 250,000 * 2CH * 63 3,000
= AD| 2l 300,000 * 2CH 600
—HRIE El(LRtEE) 10,000,000 10,000
—FAX EU 100,000 * 204 * 23] 400
—XYSE HUDRIE 2|2
25,000 * 2CH * 6} 300
—HAIILHDE L S
20,000 * 3CH * 12)HE 720
ORI 5,000
—ANAA2LT STOHAL] 5,000,000 5,000
Osg+L (MU 22) 6,500
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)(‘I J_(H:

SN
SH

[==J

|

=k crolH e
= X XH l:o = (o] HAXZ A} OH x‘—-IL‘jL:— =2}
—=ZH| 50,000& * 19 » 100 5,000
— A 50,000& » 194 * 30 1,500
02 =229l 7,300 6,800 500
Ozs3g= & AA 7,300
—RUSYSH 5,500,000 5,500
—AOIZ2 M I 2A2IARA HIRZB 600,000 600
—MOIZ2IIANREY otz
1,200,000 1,200
202 OiHl 26,496 27,216 ANT20
=LY 26,496 27,216 AT20
OJI=2gs =80l
120,000 * 23 = 12& » 0.8 26,496
405 KHaHE S| 1,660 1,960 A 300
e =SS FHSHI 1,660 1,960 A300
O 4t 200,000 * 404 800
O2 Xt 140,000 * 44 560
OCXIEItoict 300,000 * 1CH 300
= 250,821 219,316 31,505
LHEHH XIS (T oA 22| 0t) 250,821 219,316 31,505
WHEHHKI= 250,821 219,316 31,505
702 JI3HES 250,821 219,316 31,505
JISHES 250,821 219,316 31,505
ON:2edlas =9 250,821,000 250,821
U 297,500 308,270 A10,770
BHXE 297,500 308,270 A10,770
[SPSPNES 297,500 308,270 210,770
311 XL 30l AtaE 297,500 308,270 210,770
02 Al -2 - AXNGMLISXULZ0IAH&E 297,500 308,270 210,770
OB AMAHNEZZ2HE(51-6,2-9)
136,500,000 136,500
OJIEAIIX 2R3 =2 IS (E3-6)
161,000,000 161,000
eSS (AL D) (L LSS ) 3,000 0 3,000
BEXES(LHAFHAXN S XN JAILEL S| H) 3,000 0 3,000
NS 3,000 0 3,000
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